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Time: 10 Minutes Paper Science 8 Total Marks: 10

3rd Month, 3rd Week, 1st Day | Syllabus: Unit # 6 Examples 1,2,3 + Mini Exercise
Q.No.1 Encircle the correct answer from the following choices. (0.5x6=3)
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i. N2+ H2 — NHs In the given equation how many nitrogen atoms are
required to balance? ‘2'_ dn._w/J/ l¢f3 L:"':cj.ﬁg)a/lf)}‘ U’v tuf._«bl/drj)
(a) 1 (b) 2 (c) 3 (d) 4
ii. Which of the following is a balanced chemical equation?
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(a) N2 + H, — NH3 (b)] CaCé + Na;CO3 — CaCOs + NaCl
(c) CHa + 20, —» 2H,0 + CO2 (d) Hz + 0, — H,0

iii. Which chemical equation is unbalanced? ?‘auﬂ}"’/{.obl/du/
(a) 2H, + 0; — 2H,0 (b))  NaOH + HC¢ —» NaOH + H,0

(c) N3 + 3H, — 2NH3 (d) CHs + O — CO; + H,0

iv. Fe + Cl2— FeC4 This chemical equation represents:

~e 3 Srbeblay Fe+ C— FeCs

(a)[Balanced equation < Isl~)il#|(b)|Unbalanced equation :J}l/ui'i"/f

(c)|Reversible equation  <lsl+_E7¢|(d)|None of these S i
v. Which equation is correct and balanced? ?g‘;u)l?/;’u/)c«bi/(fuf
(a) Mg+ O — MgO (b) Mg + 0 — MgO>
(c) Mg + O — Mg,03 (d) 2Mg + 0 — 2MgO

vi. CaC¢ 2+ Na;CO3 — CaCOs3 + NaC/ How many sodium & chlorine atoms are

required to balance it? ?4"_(3;1.:«/5/&/ /’f.lcf,q" /:g/;’(:5f£gj.é:'¢/u}l?fu’ 1
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Q.No.2. Write short answers. (2 x2=4) -u..“’d.:«l,’;?/‘?

(i) CaCly + Na;CO3 — CaCOs + NaC¢ balance the given equation.

-J/(LJ/’}"[“ !:L/u{j;CaCIz + Na,CO3 — CaCOs + NaCl
(ii) CO2 + H,0 — CgH1,0¢ + Oy balance the above equation. -u’//u;'r”;’;bl/d(dﬁ/)i
Q.No.3. Write long answer.  (3) -u.‘."i«lﬁ( §~
(i) Na,COs; + HC/O3 — NaCéOs + CO, + H20 balance the given equation.
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i. N2+ H2 — NHs In the given equation how many nitrogen atoms are
required to balance? "c_ dn..«/)/d//lu’v técj.zf_g//uﬂr’;g“lﬁ Lgﬂ.«bbﬂd‘fj)
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ii. Which of the following is a balanced chemical equation?
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(a) N2 + Hy — NH3 (b)] CaCt; + Na,CO3 — CaCOs + NaCl
(c) CHa +20; —» 2H,0 + CO2 (d) Ha + 0; — H,0

iii. Which chemical equation is unbalanced? ?‘Lu)l}"‘/:f.:«b\/(iu:’/
(a) 2H, + 03 — 2H,0 (b))  NaOH + HCZ — NaOH + H,0

(c) N3 + 3H2 — 2NHs3 (d) CHa + 02 — CO; + H20

iv. Fe + Cl2— FeC4 This chemical equation represents:

-€_d/§;l£.;.uu, Fe+Cl2— FeCs

(a)[Balanced equation = lsLa)jI#|(b)|Unbalanced equation :J:L/uj'?';f
(c)[Reversible equation = lsl+7y|(d)|None of these S
v. Which equation is correct and balanced? ?g‘;u/”}"/;l..wuc«bl/(fuf
(a) Mg+ 0 — MgO (b) Mg + 0, — MgO;

(c) Mg + O — Mg,03 (d) 2Mg + 0, — 2MgO

vi. CaC¢ 2+ Na;CO3 — CaCOs3 + NaC/ How many sodium & chlorine atoms are

required to balance it? ?c‘;&nc«/;/'”d/ /.’.H:_u_’ /:K/;l(;b’é;fgj.éL/’/u)’?fu’ /
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Q.No.2. Write short answers. (2 x2=4) -u.‘."{:«LV/‘?

(i) CacCl, + Na,CO3 — CaCOs + NaC¢ balance the given equation.

Sl J$5CaCl, + NasCOs — CaCOs + NaCe
(ii) CO2 + H,0 — C¢H1,0¢ + O, balance the above equation. _J/U/ir’fum/ufd)/a'
Q.No.3. Write long answer.  (3) ,uf{,l,z( }..
(i) Na,COs+ HC/O3 — NaC¢Os + CO, + H20 balance the given equation.
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